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2019 VCE Greek written examination
report

General comments

The majority of students responded well to all sections of the 2019 VCE Greek written examination,
demonstrating sound knowledge and understanding of the examination structure and the different
types of writing required. Very few students responded in the wrong language; some students,
however, included information in their responses that was not presented in the texts.

Most students were able to understand both the spoken and written texts and respond accurately
and appropriately to most questions. The majority of students responded to all sections of the
examination.

Students who scored highly displayed excellent comprehension skills and the ability to identify the
required information in the aural and written texts and to provide detailed and correct responses.

It was noted that many students highlighted key words in the questions. However, students should
ensure that they respond specifically to what the task requires as, at times, students understood
the aural or written text but placed the answer with the wrong question or repeated the same points
for two different questions. Some students also highlighted the correct answer in the written
passage, or wrote the correct points from the listening passage in the note-taking space, but did
not transfer them correctly to the answer space. Other students rephrased the question in their
answer. Students should be aware that the number of lines provided and the number of marks
allocated for a question can be used as a guide to the length of the required response. If students
find the space insufficient, they can use the space below the lines to complete their response;
however, anything written in the note-taking space cannot be assessed.

A skill that needs to be developed is time management, as some students appeared to have run
out of time to adequately complete Section 3. Also, more practice is required using the dictionary
well. Students need to find the appropriate meaning/word that relates to the context of the
question. For example, in Question 4f., a few students wrote ‘...get the opportunity to discuss
future facings with Greece...” (using the word ‘facings’ instead of ‘investments’).

Student responses also indicated the need to focus on language and to ensure that students have
knowledge of all aspects of grammar and structures as well as an extensive vocabulary. Some
areas of concern were:

o failure to use accents (ywpra, As@ra) or to use accents correctly (uUnTepd, auToékIvhTa)

o failure to use the common words mpérrel, xpeidlouail, oAU correctly in all their forms (mpémere
va 1Tacel, Xpelddw xpnuara, moAAa avBpwiror)

o failure to spell common verb endings correctly (okero, Tpéxo, va opyavwaon)

o failure to use the correct word (such as kpeuaaorei instead of ykpeuioTei)

¢ lack of agreement between nouns and adjectives in gender, case and number (70 KUpIO¢
TPOTTOC, TO KAAUTEPO GvBpwWTTO, TTOAAOUC OPYAVWOEIS, N WUXOAOYIKO UYEiQ)

o failure to use the correct article for a noun (Toug olkoyévia, TNV YIQyIGdES, TNG APTA, N KPITIKEG)

e reversal of letters (douAeuieg instead of douAeuerg)
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o failure to use the correct verb tense (va pIAGel e 1o TTaveTTIoTAIO) instead of (va pIAfoEl Ye To
TTAVETTIOTHIO)

e errors with homophones (mwc¢ instead of mwg, mou instead of mo0)

e confusing some Greek letters, for example, ¢ with x (xéow) and ¢ with B/6 (Baynrd) as well as
1o and ko instead of g and ¢ (ypdmoeic, kKoépw)

e use of anglicisms/borrowing English sayings and translating them into Greek literally, which
caused the meaning to be lost.

Specific information

This report provides sample answers or an indication of what answers may have been included.
Unless otherwise stated these are not intended to be exemplary or complete responses.

Section 1 — Listening and responding

Part A — Answer in English

Overall, students performed well in this section, providing answers that were accurate, concise and
based on the texts provided. In Question 1a. some students did not write that the male speaker
was aware of the fact that Georgia likes to exercise, and in Question 1c. did not include ‘to
exercise in the exercise space in the park’ or did not mention ‘joining a team’. A few students who
understood the listening text made careless errors such as writing ‘gum’ for ‘gym’ and ‘heavy’
equipment for ‘dirty’ equipment.

Text 1

Question 1a.
The male speaker contacted Georgia:

o totell her that he is joining a gym/to ask her to join the gym with him
e because he knows that Georgia likes to exercise.

Question 1b.
Georgia refuses the male speaker’s offer because:

e she does not like gyms/she prefers to exercise outdoors

e in the gym you have to pay a lot of money

e the machines are dirty

e you often have to wait in line for some machines.

Question 1c.

At the end of the conversation Georgia recommends to the male speaker:

e to exercise in the exercise space (the council) installed in the park
¢ tojoin a team, such as for running or walking.

Text 2

Most students understood the text and responded well. Question 2a. was answered well by most
students. However, some students included the answer for Question 2b. in their answer for
Question 2a. This meant that they did not have the correct answer when they attempted question
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2b. For Question 2b. some students did not mention ‘safety system’ or ‘specialised’ people looking
after the bus or that the bus was monitored ‘electronically’.

Question 2a.

The city of Trikala benefited from the introduction of the driverless bus because of any five of the
following:

e it does not produce fumesl/is environmentally friendly

e jtis economical to run

it does not produce noise

it serves the people well as it passes from the centre of the city

e it has increased tourism

¢ it has helped the city gain fame (in Greece and around the world).

Question 2b.
The measures taken to lessen any concerns regarding the driverless bus are:

e it has a security system that ensures it follows a specific route or stops the bus when there is
danger

e specialised people monitor its journey electronically/people deal electronically with any issues
that may arise.

Part B — Answer in Greek

Text 3

Overall students needed to take care with their responses in this section. At times students wrote
half the answer for each point without realising that there was another half to complete the
response. For example, for Question 3a.: n kivnon aroug 6pououS Twv vnaoiwv Exel auénBei/éyive
apopntn ue ta evoikialousva aurokivnra. The point that ‘the traffic on the roads has become
unbearable with the rented cars’ was not included in many responses. Question 3b. was done
less successfully, as a number of students did not find all three points. Good note-taking is
important in the listening parts of the examination.

Question 3a.

To vnaoi éxel ernpeaoTei amré 1o padiké roupioud (The island has been affected by mass tourism)
because:

e 1 TapadOoCIaK APXITEKTOVIKN Olya-olya xaverar/mapadociakd otritia ykpeuidovrai (kai xtidovrai
éevodoyeia arn 6éan Toug) (traditional architecture is slowly disappearing/traditional houses
are knocked down [and hotels are built in their place])

o o1 MaAIEC yerToviéG OtTou padlebovrav or avBpwirol (kai éAsyav 10Topiec) dev uttapyouv tmia (the
old neighbourhoods where people gathered [to tell stories] no longer exist)

® Ol KATOIKOI ACXOAOUVTAI (ATTOKAEIOTIKA) UE TOV TOUPIOUG/EXOUV QQHOEI TA KTHUATA Kal TO WApEUa
(the locals are [entirely] involved in tourism/they have abandoned farming and fishing)

e 1 Kivnaon otoug pOUOUCS éxEl Yivel apodpnTn L Ta evoikialoueva autokivnta (traffic on the roads
has become unbearable with the rented cars)

e 01 TOUPIOTEC TTOU épxovTal ue Ta KpouadiepotrAoia dev E0deUouV TTOAAG xpriuara oTo vnai eTEidn
Epxovral yia LUEPIKES WPES/ TPWVE Kal KoiouvTtal ato 1mAoio (tourists who come on cruise ships
do not spend a lot of money on the island as they come for a few hours/they eat and sleep on
the ship)

e 10 KOOTOS (W< éxel auénBei (the cost of living has increased)

VCAA Page 3


http://www.vcaa.vic.edu.au/Pages/aboutus/policies/policy-copyright.aspx

e 01 véol ernpealovral arrd Tov 1010 (WS TWV TOUPIOTWV/0I VEOI EXOUV ATTOUAKPUVOE atTd Tic
mapadoaoeic Tou vnoiou (young people are influenced by the lifestyle of the tourists/young
people have distanced themselves from the traditions of the island).

Question 3b.

Ta uétpa mou mpérrel va AneBouv yia va AuBouv ta mpoBARuara mou énuioupyouvrail amro 1o Hadliko
Toupioud givar: Na auuttepiAdBeic Tpia onucia atnv amdvinon ocou. (The measures that need to be
taken to solve the issues that are caused by mass tourism are: include three points in your
answer):

o TO KPATOC TTPETTEI va EAEYXEI TOV TOUPIOLG/TTPETTEI va TTEPIOPITE! Ta KpouadiEpdTTAoIa Kal Tov
apiBud twv roupioTwy (the government should exercise control on tourism/it should limit the
cruise ships and the number of tourists)

e 7O KPATOC TTPETTEI va TTAPEI HETPA WOTE VA TTPOCEAKUGEI TOUS TOUPIOTEC va épBouv aTo vnoi yia
éva peyaAurepo xpoviko didornua (the government should take measures to attract tourists to
come to the island for a longer period of time)

® TO KPATOC TTOETTEI VA TTAPEI UETPA WOTE VA TTPOOEAKUTEI TOUPIOTES TTOU EvOIa@éPOVTal yia THY
1oTopia/ Tig TTapadOoEIS TOU vNoIoU/ va LolpaocTouv Tov 100110 {WhS Twv viomiwy (the
government should take measures to attract tourists who are interested in the island’s
history/traditions/share the lifestyle of the locals).

Section 2 — Reading and responding

Part A — Answer in English

Text 4

Generally, students understood most of the text and responded reasonably well. A few students
translated straight from the passage and did not respond specifically to the question, while other
students added their own information or repeated the same answer for two questions. Again,
students need to look carefully at the key words in the question, respond to them specifically and
place their responses with the right question. For example, the key word for Question 4a. was
‘location’, Question 4b. ‘main purpose’, Question 4d. ‘culture’, Question 4e. ‘politics’, etc.
Responses that did not address these key words were incorrect. In Question 4f. many students did
not include the point that the cooperation between Greece and other Asian countries was to be
done ‘via’ India.

Question 4a.

The Thessaloniki International Fair benefits from its location because:

o jtis situated in the centre of the city/it is central
e it occupies a large area
o itis situated near to Lefkos Pyrgos, which is a well-known/historical monument.

Question 4b.

The main purpose of the Thessaloniki International Fair is:

¢ to enable countries to exhibit/advertise their products

o totrade

o to develop friendships/co-operation with participating countries

e to support (the Greek) economy/support industry, agriculture and technology.
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Question 4c.

The evidence from the text that the Thessaloniki International Fair has been successful in recent
years is:

e there is an increase in number of participating companies
there is an increase in number of visitors

there is competition for exhibition space

e there is large visitor participation in lectures.

Question 4d.
The Thessaloniki International Fair promotes culture because:

e it holds a Greek Film Festival

e it holds a Greek Song Festival

¢ it holds an International Short Film Festival

e it has concerts of famous singers and musicians.

Question 4e.
The Thessaloniki International Fair plays the following role in Greek politics:

e Greek political leaders give interviews on matters that concern Greeks
e the Greek Prime Minister announces the government’s (annual) program/plan.

Question 4f.
Greece hopes to gain from India’s participation in the Thessaloniki International Fair:

o the prospect of future Indian investment opportunities in Greece
¢ the promotion of Greek products in India
e the prospect of co-operation between Greece and other (Asian) countries via India.

Part B — Answer in Greek

Text 5

Most students found the five points; although some students were not able to organise them in an
original way or copied the points directly from the text. Some students omitted information from the
text and added their own information. Other students wrote the wrong word, which had a totally
different meaning: avaBdAer 1i¢ omoudéc meaning ‘defer’ the studies became avaAdBer 1i¢ ommoudéc
meaning ‘to take up’ studies, or douAeid meaning ‘work’ became douAgia meaning ‘slavery’.

Question 5

la va meioer 1 untépa Tou o1 givai éroiuog yia 1o 1aéidl Tou o yiog mpétel (To convince his mother
that he is ready for his trip the son must):

o va wdaéel va del av umropéei va avaBaAsr 1ig orroudég Tou (investigate if he can defer his studies)

o va OoUAéwer yia va ualéwel xphuara yia 1o taéidl orav raéidevel Oa Bpioker SouAgia drav
xpeialerar xpnuara (work to save money for the trip/as he travels, he will find jobs when he
needs money)

o va éxel o TToAAN autorrerroiBnon (dev Ba civar vipormaAdg) (become more confident [he will
not be shy]j)

e va udbel va avriueTwirilel kaivoupyie karaoraoeis (learn to overcome new situations)

e va uabel va kavel mpdyuara dixwg 1 Bonbeia twv yoviwv tou (learn to do things without the
parent’s help)

e va udbel va opyavwyvel Ta mpdyuara uévog Tou (learn to organise things on his own).
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Section 3 — Writing in Greek

In this section of the examination, students chose one of five questions, each requiring a different
text type and a different kind of writing: an article (persuasive), a script for a speech (informative), a
diary entry (personal), a report (evaluative) or a story (imaginative).

Students were assessed according to the following criteria:

¢ relevance, breadth and depth of content
e appropriateness of structure and sequence
e accuracy, range and appropriateness of vocabulary and grammar

Students attempted all five questions with a reasonable spread. The least popular was the
imaginative story (Question 10). It is important to practise writing extended responses in Greek in
the specified time limit as some students did not complete their response with appropriate detail.

Question 6

Students were required to write an article for a magazine for teenagers to persuade its readers that
a hero of their choice was worthy of receiving an award. They could give reasons why the hero
deserves an award, specify the contributions they made to society, how they enriched themselves,
etc.

Some students chose people such as a parent or grandparent and went on to explain why they
deserve the award. While there were some very good responses, others lacked elaboration and
were more informative rather than persuasive. Also, some responses did not clearly include the
characteristics of an article.

Question 7

Students were required to write the script for a speech that they will deliver at the next school
assembly, informing their fellow students of ways in which they could assist the homeless. They
could explain what homelessness is, where it occurs, why people become homeless and
recommend a number of ways they can assist the homeless. The writing needed to be structured
clearly as a speech with an introduction, body, and conclusion.

Students who had the required command of the language scored highly, but other students were
not able to organise their writing clearly as a speech or did not have the appropriate vocabulary.

Question 8

Students were required to write a diary entry about a book they read recently that impressed them
immensely, explaining how it has changed their life. They could describe the book, its topic, the
issues it raised and its messages, highlighting what makes the book special and memorable for
them.

This question was answered well by most students as they chose a book on a topic that was
familiar to them, so they had good command of the vocabulary.

Question 9

Students were required to write an evaluative report to be published in a local newspaper, giving
two reasons why famous actors deserve to be paid large amounts of money and two reasons why
they should not. In this text type, students should include evaluative language as impersonal
expressions such as ‘on one hand...’, ‘on the other hand...’, etc.

This question was chosen by few students. Most responses lacked depth and writing was not
always organised as a report through the use of structure, with a clear opening and a conclusion
and with the correct register.
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Question 10

Students were required to write an imaginative story for children, inspired by the painting provided
on the examination. They could use elements from the painting to create an interesting and well-
developed plot or use the painting as a springboard to create their own plot.

This question was chosen by few students. Some students wrote an informative essay and did not
include elements of imaginative writing such as a creative plot, interesting characters, a description
of the setting, heightened drama and a final resolution.
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